PART—A
Child Development & Pedagogy

English Version

1. A child is repeatedly dismantling her toy gun and
repeatedly assembling the parts for learning to make a
complete toy gun. Which two of the given four learning
theories are mainly involved in the process?

() Thorndike (ID Pavlov

(T Skinner (V) Koffka & Kihler
Choose the correct option:

(A) (D and (1D (BY (1D and (11D
(C) (1D and (1V) (M) (hand (1V)

2. Match List-I with List-II:

. List-1 List-Tl
(Cognitive Development (Descriptions)
Concepts)

(a) Schema, (i) Modilying existing mental
structures to incorporate

new information

(b) Assimilation *(ii) An organized pattern of
thought
(c) Accommodation (iii) Achieving cognitive
balance through
adaptation and adjustment
(d) Equilibration (iv) Fitting new information
into existing mental
structures
Which of the four options is correct?
Codes:
(2) (b) (c) (d)
(A) (1) (i1) (1) (iv)
By () (i1) (1) (iii)
(C) (i1) (iv) (1) (iii)
(D) (ii) (iv) (i) (i)

3. Child’s inability to understand a situation from
another person’s point of view is called—
(A) Object permanence (B) Centration
(C) Ego-centric thinking (D) Transductive thinking
4. Which one of the following statements is
inappropriate in reference to Evaluation & Assessment?
“(A) Continuous and Comprehensive Evaluation covers both
Scholastic and Co-scholastic aspects of students
Diagnostic test is related to remediation
Formative evaluation does not measure instructional
progress in classroom situation
Summative assessment is a tool of evaluation used by
the teacher at the end of the whole instructional process

(B)
(©)

(D)

5. Which of the following is assumed to remain same
up to a certain period of human life?
(A) Mental Age (B) Chronological Age
(C) Intelligence Quotient (D) Body height

6. Which of the following statements does not match
with the concept of pedagogy?
(A) Pedagogy is related to the needs of the learners
(B) Pedagogy is indifferent to the context of cultral
influence
(C) Pedagogy changes with the change in the curriculum
(D) Pedagogy is evolving in nature
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7. Inthe revision of Bloom's taxonomy of instructional
objectives in cognitive domain, the included and replaced
items are respectively—

(A) Attitude, Understanding
(B) Svnthesis, Valuing

(C) Synthesis, Creating

ID) Creating, Synthesis

8. The students of a class could not complete their
answers during class hours. So a part of recess was
curtailed to provide more time. This is an example of—
(A) positive punishment (B) negative punishment
(C) retroactive inhibition (D) negative reinforcement

9. Which onc of the following is the most suitable for
storytelling to the learners of class 1?
(A) Drawing pictures on the board
(B) Asking questions to individual leamers
(C) Using voice modulation and gesturing
(D) Asking leamers to listen attentively

10. Which approach is inappropriate to Constructivist
views?

(A) Discovering something from empirical
engagement

(B) Cooperation in group leaming

(C) Provoking to acknowledge multiple perspectives
of an objective phenomenon

(D) Memorising a singular interpretation

11. Match List-I with List-II and select which of (A),

(B), (C) and (D) is the correct matching.
List- * List-Il
(Learning phases (Features)
as per 5SE model)

(a) Engagement (i) Learners delve deeper into
the topic, make connections
and apply concepts to real-

world scenario

(b) Exploration (i) Hands-on activities and
participation in enquiry to
strengthen learners’
understanding

(c) Explanation (iii) Attention-grabbing activities

to encourage learners’ interest
Judging learning outcomes

In-depth discussion of
concepts and theories to

(d) Elaboration (iv)

(v)

provide learners with
foundational knowledge
Codes:
(a) (b) (c) (d)
(A) (i) (1) (iii) (iv)
(B)  (iv) (1) (i) (v)
(C) (i) (i1) (v) (i)
(D) (ii) (i1) (i) (v)
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12. Consider the

Taxunom_\- of Ins
Outcomes:

following statements about Bloom's
tructional Objectives and Learning

() 1t categorizes learning objectives ranging from

lower-order thinking to higher-order thinking skills.
The lowest level of Bloom's Taxonomy is ‘Creating’,
which involves gencrating new ideas and original

(i)

concepts,

(iii) ‘.f\nnl_\'_zing‘ is a higher-order thinking skill in
!!Innm § Taxonomy that involyes breaking down
information into parts and understanding
relationships,

(iv) It assesses Students® memorization skills and factual
Knowledge.

Which of the four options is correct?
(A) Only (i) 4B) (1) and (iii)
SO (i) and (i) (D) (i), (iii) and (iv)
13. In Maslow's hierarchy of
is analogous to—
(A) extrinsic motivation
(©) reward and punishment

needs, self-actualization

(B) need for achievement
(D) intelligence

14. If List-I is mate
be the correct option
List-]
(Levels of Teaching)
(a) Memory Level
(b) Understanding

hed logically with List-II, what will
among (A), (B), (C) and (D)?
List-11
(Learning Outcomes)
(i) Assessing own learning
(ii) Recalling and

Level reproducing information
(c) Reflective (iii) Establishing the cause-
Level effect relationship
Codes:
(a) (b) (c)
(A) (ii) (iii) (i)
(B) (i1) (1) (iii)
(C) (1) (ii) (iii)
(D) (i) (i1) (1)

15. According to Kohlberg, the level of moral
development, in which an individual judges morality in
terms of abstract principle is—

(A) Pre-conventional (B) Convcmiunul.

(C) Post-conventional (D) Both conventional and

Post-conventional

16. Teacher is not following the maxims of teaching
when she/he— .
(A) teaches humanity first, then about human beings
(B) shows the picture of dogs first, then that of bears
(C) shows garden first, then its plants o
(D) helps to form concept on the basis of common
characteristics

(51
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17. According to Bruner, the stages of learning in
increasing order are—
(A) enactive, iconic, symbolic
(B) symbolic, enactive, iconic
AC) iconic, symbolic., enactive
(D) preoperation, enactive, iconic

I18. Consider the follow ing statements,
(i) Developmental milestones are fixed and identical ¥
for all individuals.
(i) Growthisinfluenced by heredity and environment. v
(iii) Maturation involves the unfolding of inherited
biological potential.
(iv) Development is solely influenced by heredity. ~
Which of the following options is correct?
(A) Only (1) AB) (ii) and (iii)
(C) (i), (iii) and (iv) (D) Only (ii)

19.  Assertion (A) : Continuous and Comprehensive
Evaluation (CCE) solely focuses
on academic achievements and
examination results, *

: CCEincorporates both formative
and summative assessments (o
provide a comprehensive view
of students” overall development. <

Reason (R)

Choose the correct answer from the options given
below:
(A) Both(A)and(R)are true, and (R) is the correct
explanation of (A)
(B) Both (A) and (R) are true, but (R) is not the
correct explanation of (A)
(C) (A)istrue, but (R) is false
1(D) (A) 1s false, but (R) is true

20. A teacher identifies the difficulty in pronunciation
of a child while reading English prose loudly. This may
be called—

(A) Assessment of learning () Assessment for learning
(C) Summative evaluation (D) Diagnostic testing

[6]
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<L One of the major i
) objectives of microteaching in
Teacher T{aming Institutes js— !
1A) to

e EIVe an adea of teaching <lills

)10 pive the concept of repeated teaching
l.(‘\ 10 master the subject of teaching ‘
D) 10 mntegrate the skills of teaching

TS ’[‘h
22, ¢ relevant nestion corres
level of teaching “ilfb@- i e
(A) i;:fllain the essential difi crences between acat and

\3: R’hat 18 the past tense of the verb ‘come"?
:_m H:\!:nfb: the geographical location of Assam.
ad Hilsa fish lived long out of water, what would

be vour explanation?

23. Match List-] with List-11:
List.] List-11
(2) Self-esteem needs (i) Shelter
(b) Self-actualization (ii) Meaningful
needs relationship
(c) Safety needs (iii) Realizing one's
potential

(d) Belongingness needs (iv) Refrain from anxiety
(v) Recognition from

others
Now, choose the correct option.

Codes:

(a) (b) (c) (d)

{A) (1) (ii) (ii1) (iv)

JB) (i) (ii)s  (iv) (i)

(C) (v) (i11) (iv) (11)

(D) (v) (iv) (11) (111)

24. The learning associated with computer literacy
training is—

(A) Associative learning
{C) Procedural learning

(B) Concept learning
(D) Factual learning

25, When learners try to think within the given
information, it is called—
#A) Concrete thinking
#C) Convergent thinking

(B) Abstract thinking
(D) Divergent thinking

Bengali Version
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26. Deficit based approach in inclusive education is
discourageable, hecause—
(A) itallows teacher to discard the weakness of the learner
(B) it allows teacher to eliminate learning-teaching
materials as per necessity
/(C ) itdoes not empower the teacher to give due importance
to the learning ability of the leamner
(D) it empowers the teacher to emphasise the learning
abilities of the leamer

27. List of experiences:
(I) Dramatized Experiences
(IT) Demonstration
(ITI) Contrieved Experiences
(IV) Direct Purposcful Experiences
According to the Cone of Experiences of Edgar
Dale, the topmost four experiences in ascending order
are—
(A) (M. D). (11). (1V)
(B) (1), (In, (D, (AV)
JC) (I, (D), (1), (IV)
(D) (IV). (), (D, (1N

28. One of two learners of same class obtained 45 and
the second one 90 in the same test of same subject. So we
may say—

(A) Second possesses twice the skill of the first
(B) Second’s knowledge is twice that of the first
(C) Second got half the marks of the first

(D) First got 45 marks less than that of the second

29. The rules for when and how to use language in o
particular culture js called—
(A) Syntax
(C) Phonetics

(B) Pragmatics
(ID) Semantics

30. For an individual learning, the unnecessary item
is—
(A) Immediate feedbackw
(B) Criterion Reflerenced Test
(C) Norm Referenced Test
(D) Cueing

(8]
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AT AR, A, TS T A
JA) TR @RS (B) weE @RS
o (O ST @rITe #D) T @R

36. “fem e wret Sramurarem wr-fey Sormd vy AT
AR

(A) & fem (B) fe= fam
O) s femm (D) == fem

37. T[IeEAN GRS
TrEea s dds =« m—
(A) wfige (B) wzel

(C) =g (D) =fagee

38, ' (TATE CRATS WA N FATITY T B0 @ i
faejet wee forer- et st wifgam
Fraradfee smida wd—
(A) Wrw

AC) =l

(B) ‘=E-a
(D) "rEa

39, o WEED w—
(A) %
(C) 333

AB) I "
#D) T

191

v r——
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Forete s e afrerod® ony wra neim emofiv (40 core 40, “ifafem sppfa ““"':r“’f‘;%m::_'_
457793 et wfdw Taw frafem wam agtga-ad fast el -

AR UATATS FIWIC0E SO0 o) Shey (B) faar
TG TR wret, el e e o a@-sren
FTEALRRN it wliata yaite T@eye wa
Tt T e, wa e carld it B
T etts syt wrwire qula ad-am R,
TEE-foaE T wwgm fem onn we-arn R
0T i, G ety Pomre S s,
It Reeves s ~Latam sel)
COTefer= 2retfer st s o,
cerefits YR wfivea e o,
CeTefers e sarete S sl ~Laamsta wo,
T ST e el - sjcareto
IR TR R0, IR g sl
St sfee v simen wree®
WIE ¥ o1, 2% st &l
AR TR 0% R - ol
STRTE % 2fa s s wR A,
TR SRR TS T RTe Wi,
eI Denare et Irafre,~ ik, wif wi)
e o wiifse whem s vl om,
TE], WTTE, ST (AIITER, G|

T R TER TR, (SRR AN W,
R TR o e ey = sie-
-l Tegfe fowem o
T e w-un v 2w Tl
*fETee wemTe orrars e @mE i
YT WiAwRrs TOehl Rereead |
TR-FHEE (T, ~HERA BT FHEN |
AL 26T 2 (2 ATA, TG T, TEl;

ZEfae o1 g o sy v wre goe-funtfis |
fafear= vere 25 e, cete ¢ 25a-fafe,
w1 T aine o edE ot
fotferets, gfaerd wrmmes, —Toprrewe |

U T2 UL e % wiama (ues,
I GULACS QUAEE ceteadl i wie |
bRl (IR 2f-3m @iy aracarm vif,
ATHACH #Atn w@rera fae cofat g fan wifi
el =5tz e cafirera gal

PUA-BL cate @ 4S9 TG Tare- o

A) T

(C) Al (D) =il

a1, stuifir, e, ), o orfirs oz w—
S v
(D) b

AA) wrenfed
(C) P~

42, “Farm gl staea antm s frge ' —
“gfit’ on saara A —
AA) Feiestera sifrst (B) wfeams dam

(C) s st (D) eananss s

43, ‘Tam Bhfa wim—ars o 7w (wif '_r_qﬂ-wqa'
‘otarsl"-u1a @b @l —
JA) GuA (B) wan
(C) 4 (D) #g%

44. ‘fifaets, gfaers wrver,—Swmgwa
Tz -aa adffavame e oA%—

AN) TG+ B+ A+ T+ U+ T+ 5+ G4+ T+ T+ T
MB) C+G+B+ WM+ +E+5+5+7

YC) C+5+B+S+H+T 45+ 4+7

(D) @+rz+b:+q+tm+=_(+@.+q+b;+v[

4s, *corehera yfafae «frrea |y o,

WerA’ 0 Al wol—
(A) P + W (B) * + %=
() [+ ¥ (D) ¥+ 4

46, T @B sid-wtransy i e g e

e # Zria Meva i ferm a—
(A) Toupt (B) Tt
) sl D)

47. Aeon el s ailba sr wfig wgen, o B
TR —
(A) 5%,
© &by
[10)

AB) 45
(D) 4,%,%,%
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[‘n"a‘f-’ —_ Brngnh'
48. T ceftre P @i ey Romitn cona Bone 58, T e (WY TR drETEe, e v vim T
0 e wioif argw wrras QATER | a1 B s e efesy 71 Wowme TR wfim
(A) % oy

(B) Tag e
(C) = oi3ee

AD) wiren frevres Tend e

49, 'mmm m“wm“_

(A) *hten
B) ewfs
(C) =z :D) -ﬁ?ﬂ
S0, r{imﬁwmmﬂﬂrﬁﬁﬁmmm
,_ﬁh/ﬁwmmqﬁm.mm%mmm
m|mﬁﬁmamﬁmnmmwmm
et {fRlR mwﬁmﬂm,mﬁm-—
(A) =T ol AB) W smfe
(C) =mis ot (D) wREm #afy

SL. LAD-=2 s mofb gm—
(A) Leaming Associative Device
(B) Leamer Acquisition Device
—#C) Language Acquisition Device

(D) Language Accommodative Device

52. S5 (e W e

(A) z=T% (B) fazm
(C) =e= D) fram

53, ez = (e e T, o ffes sea—
(A) % (B) 4

7(C) = /D)

54, U4 TR — GfbTE aTUM o T AE WA—
(A) = (B) @&

,(E) ELa G '(D) L Ihe)

TATS @ TS AT |

13 @3 Tl s s wroE T a—
(A) Adaptation

)Cl Acquisition

(B) Assoctation

(D} Leaming

86. wente fatrera e v e owTa weET R RE® ITa—
(A) T e wandns g2 vz o
(B) 2 fofre orst vz dirs gs v o

40 SFrm oz en B sp wre i Sere em o
=1

JD) € st e MR o wrnde e
formret wor o1 =

57. v cefers @om wmm otwrer wrAEm vm D o,
sz —

(A) T=m T 227
(B) =% 3= fFre o
(C) =% I T 9oR WeTH o T

AD) 3T I T A R (R TR T 2

58. ‘ofe® e afimmd = wrE @B e

O X+ A+ R
(A) X (B) ®
(LC) q (D) =

59. Sive wE el o T —

AN) wiea—faw (B) w3 T
A — (TR G5

(C) AR—=z (D) M= g Fsw
A

TS

60, TF >WM TH—
(A) AfRepiona Tz
(C) Tfrearsa Twrgadt

B cairsacs T
(D) wEdieam Temas
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Language-11 — English

65, “.. it was not expected and not predicted.” Choose
the correct alternative for the above expression- -

AA) Ttwas neither expected nor predicted
(BY Tt was unexpected and predicted
() Tt wasn't expected but predicted
(D) Tt was either expected or predicted

66. “Overtone’ as used in the passage refers to—
(A) any frequency lower than the fundamental frequency
AB) any frequency higher than the fundamental
frequency
(©) any frequency equivalent in range to the
fundamental trequency

(D) any frequency that is not at all related to the
fundamental frequency

67. “...explore new things with it.” Exploration -based
learning helps children learn through—

(A) excursion (B) reflection
(C) rote memorisation (D) curiosity and inquiry

68. In the brief telephonic conversation, Adam Smith
stated that Anne L' Huillier must have felt that—

(A) itis 2 regular humdrum affair to receive the prize
AB) she was overwhelmed on receiving the prize

(C) receiving the prize was a very mundane affair
(D) receiving the prize made her feel disturbed

69. The phrase *behind the scenes’ refers to work
done—

(A) publicly
AC) surreptitiously

(B) overtly
(D) unreservedly

Read the following passage carefully and answer Question
nos. 70-79.

There was once a herdsman, a lad of 14 years, who
grew bored while walching over the village sheep. He wanted
to make things more exciting. So, he yelled out that wolves
had come over and were attacking the sheep. Allthe villagers
came running to drive the wolves away. However, on arriving,
they spotted no wolf. The lad was amused but the villagers
were not. They told him not to do it again. Shortly after, he
repeated this antic. The villagers came running again, only to
find that he was lying blatantly. This made them furious and
they left, warning him of dire consequences.

(28]

A few days later, the lad actually spotted a wolf
sneaking amongst the flock. He jumped up and called out f_or
help. But none turned up because they felt that he was su_ll
joking and trying to fool them. At sunset, when the lad did
not return, the villagers started looking for the boy. They found
him sitting on a hillock, crying dejectedly. He told them that
a wolf had really come and attacked the sheep. An old man
came forward to comfort him and told him that none would
believe a liar even when they were being honest. And the liar
has to bear the brunt of his action,

70. The moral of the story is—
(A) Do not believe cowboys
(B) None disbelieves a liar
(C) Liars are always successful
AD) Liars are always exposed

71. *... a woll sneaking amongst the flock.” ‘Flock’ is
a/ an—
(A) Common Noun
~AB) Collective Noun
(C) Proper Noun
(D) Abstract Noun

72. “None turned up because they felt that he was still
Jjoking;” is an example of a—
(A) Simple sentence
(B) Complex sentence
#L) Compound sentence
(D) Double sentence

73. “An old man came forward to comfort him.”
‘Comfort’, as used in this line, can be replaced with—
—(A) console (B) combat
(C) congratulate (D) compliment

74. The villagers hoped that their warning would
dissuade the lad. If the above sentence is rewritten, without
altering the meaning what will be the correct option?

(A) That their waming would dissuade the lad is
what the villagers hoped
(B) That their warning will dissuade the lad is what
the villagers hoped
(C) That their warning would dissuade the lad was
what the villagers hoped
AD) That their warning might dissuade the lad is
what the villagers hoped

75. *finding something or someone’— The phrasal verb
for the quoted expression is—
(A) calling ot &B) looking forward
(C) yelling out ) looking for



PART - C

26, Statement I : Noone rusheqd Inthe lad'sa
felt he was fooling them.
Statement 11 No one turned UD 1o help the 1ad ag

they were tired of his antics,
(A) Statements Tand 1 are 1rye -

(B) Statements 1 and 11 are falee
(C) Statement T1s false
(DY Statement 1 s trye

id as they

and Statement 1 is true
and Statement 11 is false

77. ‘inanopen and unashamed manner*— 1
as used in the passage, means—
#(A) dejectedly (B) actually
}(‘1 blatantly (D) really ’

This phrase

78. The herdsman tried to fool the v
(A) he wanted to disturh them

AB) he wanted to derive some fun
(C) he wanted company
(D) he

illagers because—

wanted 1o show them how careful he was

< 79. *Antic’, as referred to in the passage,
" (A) kind behaviour

AC) foolish, outrageous or
amusing behaviour

means—
(B) optimistic behaviour
(D) pessimistic behaviour

80. The purpose of CCE in learning English as a second
language is—
(A) 10 administer weekly tests
(B) to assess the learners’ understanding of the
lextbook
}C ) 10 assess their leaning gaps and help learners
achieve the expected learning outcomes in
both scholastic and co-scholastic areas of
knowledge
(D) to assess their learning gaps and help learners
achieve the expected leamning outcomes in only
the scholastic areas of knowledge

81. Which evaluation is done by the teacher during the
process of learning?

(A) Summative evaluation

(B) Term-end evaluation

(C) Product evaluation
AD) Formative evaluation

82. Dyslexia is a learning disablity that negatively
affects the understanding abilities in terms of—
) Reading
(B) Oral language
(C) Sign language
(D) Dialect

Language~I1 — English

8. Writing the title of 2 story on the hlackboard, the
teacher asks the class to puess what the story is about.

She/He does this to—
(A} improve students” vocahulary
(B) make the story less interesting
AC) et the class guess the content
(D) let the class guess the word meanings

84, When young learners are taught to improve their

spelling and punctuation, they will—
AAN) improve their accuracy
(B) nurtare their creativity
(C) sharpen their listening skills
(1) enhance their fluency

85. Effective learning in a classroom situation takes
place when the learners are—

(A) passive

(B) able to score high marks
AE) interactive

(D) fluent in the language

86. ‘Study of meaning’ in a language is known as—
(A) semantics

(B) syntax
(C) linguistics
IB) morphology

87. English language has
(A) 24
AB) 25
(C) 26
(D) 27

consonant sounds.

88. A scoring guide, used to evaluate the quality of
students is called—

(A) Rating scales
(B) Checklist
C) Inventories
(D) Rubrics

89, ‘Pedagogical grammar® means—
A) teaching of grammar from form to use
(B) teaching grammar out of context
(C) teaching only the rules of grammar
(D) teaching grammar in context

90. A good piece of writing in English involves—
(A) ncofrect punctuation
AAB) ideas, presentation and coherence
(C) flowery language
(D) illegible handwriting

[29]
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91. The product of two whole numbers is 552. The
smallest possible sum of these numbers js—
(A) 38 (B) 98
(C) 553 (D) 47

92. In the following pattern

the missing term is—
(B) 184

(A) 210
(C) 425 (D) 241

93. “The sum of any two whole numbers is a whole
number‘— This property of whole numbers is referred
to as—

(A) Commutative property
(C) Distributive property

(B) Associative property
(D) Closure property

94. x and y are two whole numbers with x <y. Then,

H.C.F. of x and y will be—
(A) > xalways
(C) <xalways

(B) > xforsome special cases
(D) <.xalways

95. The number of days in the 18th century was—
(A) 36525 (B) 36524
(C) 36625 (D) 36624

96. There are some statements given below:
(I) Multiplying a number by another always increases
its value.
(IT) Dividing a number by another nonzero number
always decreases its value,
(IT) A number multiplied by 10 always has a zero at
the unit place.
(IV) Multiplication is the inverse process of division.
Identify the correct option—
(A) (I) and (II) (B) (I1I)and (IV)
(C) Only (III) (D) Only (IV)

[30]

Bengali Version

91. b wee A A sszfm.ﬂwﬂiﬁ!mm

FETN A TA—
(A) 38 (B) 95
4C) 553 (D) 47
92, fsfarfar anibrel o e
‘ ‘ fiz)
eIy ol Zm—
(A) 210 <B) 184 i
(C) 425 (D) 241

93, ‘G @I b WG A 7B G Whe AAT— Ty
A €% €@ 7@ W— |

(A) fafemm @l (B) Are &
NORLTE (D) Tl o

94. x @y 7 b WS WA R x < y | UL, x € y-q7
ﬂm-oom—

(A) 74l > x (B) g R stz > x
AC) 7t <x (D) A< x

95. 18*rer= farem ey fem—
(A) 36525
(C) 36625

(B) 36524
(D) 36624

96. frs fog forfe e =

(1) <3 TRYTEF "otg @ Ayt @ o 20 o7 Tw
it 3% o) x

(ID) =5 AT wom @b o et arat se Fae o
T T g A

(I 10 %t ofte @ fe M aas gem wd @2l =5
ATF| v

(IV) o4 & sreem e afmm) -
e faaml e swa—
(A) (@3 (1) AB) (1) 93z (V)
(C) wymm@ (I1m) (D) wyE@ (1V)
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English Version

. which of the following is not g mathematical
r‘KfSS?
P (A) Visualising (B Memorising

(C) Estimating (D) Transposing

0§. Bakul has started reading a book of 4818 pages. In

tive days s ads 24 M
(hree consecutive days she reads = part, i part and

B part of the book respectively, The number of papes

146

of the book, left for reading, is—
(A) 1727 ®) 1738
(C) 1832 D) 1742

99. If a number (natural) be divided by 893, the
remainder is 198. The remainder, when that yery .
is divided by 47, is— ry number
(A) 38 (B) 10
<€ 17 D) 05

100. The length of a rectangle is greater than its breadth
by 4 cm. and its area is X cm?, If the length be decreased
by 2 cm. and the breadth be increased by 2 cm., then the
new rectangle formed is of area ¥ em?2. Then—

(A) X<Y (B) X<v

€) X>Y D) X2

10L. In the figure, A ABC, A DEF and all the,

6 small identical triangles are equilateral.
A

The ratio of the area of the quadrilateral PDES to
that of hexagon PQRSTU will he—
(A) 1:1 (B) 15:16
(C) 6:5 (D) 5:6

102, What is the correct sequence a teacher needs to follow
to explain the concept of a ‘Quarter” (4) in class III?
(i) Showing pictures representing ‘a quarter’
(ii) Providing concrete material objects and dividing
them into ‘quarters’
(iii) Writing the symbol of a quarter on the blackboard
(A) (iii) = (i) = (1) (B) (i1) = (i) = (i)
(C) (i) - (i) = () (D) (ii) — (iii) = (1)

Bengali Version

97. fitva caraf® mfefer efimm me

(A) SETe5T7s el 4B) g7 =
(C) wepara @y (D) Zwrea &2

98. 777 4818 *irerz qafl A% erT aE ATz o7 o2 Fm

o1 7e R w2 wer, M g o 23w o conm

73 219 146

A ol siret orgt ifE ure v A TE—
(A) 1727 (B) 1738
(€) 1832 (D) 1742

99. @ A (Arsif) 893wz B =ETA TR T
1981 wiaibra 47 wrat w19t =2rm wyormem 73—

(A) 38 - ) 10
€ 17 (D) 05

100. @b wmerem cvam i T urgz om 4 R e
V@ oFEmE X G| e @ w2 R, = o
R A7 2 G AT 7w @ g e oo Sew
e cvaen 1 ¥ G g, ere—
(A) X<Y (B) X<Y
(€ X>¥ D) X>¥

101. &g f5Ta A ABC, A DEF ¢ %25 6 B o031 s =50
frgwef e fase)
A

PDES 5T$Te7 (%% ¢ PQRSTU T5§T Cwawre?
AT A—
(A) 1:1 (B) 15:16
(C) 6:5 D) 5:6
102. TEmM AT OF-HPURTR’ (14) WA YR T L3R
farsa @ wafd wepmd FREw e
(i) a=-vydier aftffige® o’ o
g i) & Toimwm el (efRw g=-syhe Rewes
(iii) Frerané aw-sydierr «fiE @
(A) (i) = (i) = () B (1) = () = (1)
(€) () - (i) = () (D) (i) = (i) = ()

[31]
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103. Which one of the following is the closest estimation-

interval of 1) ?
7

1

(A) 0-428574126 < -_; < (482571429
3

(B) 0498751426 < 7 <()-528571429
3

(C) 0-428571426 < ; < (0428571429

(D) 0-425874126 < —;- < (438251429

104. The sum of the numbers of prime factors of 1540,
21450, 1111 is—
[The factors may not be distinct]
(A) 12 (B) 7
© 11 (D) 13

105. Match the following in List I with those in List IT
and choose the appropriate code—

List] List IT
(a) Galileo (i) Mathematics is the gateway and
key to all sciences.
(b) Bacon (ii) Mathematics is the language in
which God has written the
universe.

(c) Aristotle  (iii) Mathematics is a way to settle
in the mind of children a habit

of reasoning.
(d) Locke (iv) Mathematics is the science of
quantity.
(a) (b) (c) (d)
(A) (ii) (i) (iv) (iii)
(B) (i) (iii) (iv) (ii)
(C) (i1) (i) (iii) (iv)
(D) (i) (i) (ii) (iv)

106. The two numbers, both of which are greater than
29 having 29 for their H.C.F. and 4147 for their L.C.M.
are—

(A) 377 and 406 (B) 319 and 377

(C) 203 and 261 (D) 261 and 319

107. In dividing a number by 1001, a boy employed the
method of short division. He divided the number by 7, 11
and 13 in succession and obtained the corresponding
remainders 5, 6 and 7 respectively. The complete remainder
when the number is divided by 7 x 11 x 13 is—

(A) 539 (B) 586
(C) 581 (D) 544

Bengali Version

103, frafafreefm wwa cml (;;’-) -q7 freben M

T - ?
(A) 0428574126 < ; < 0482571429

) 0498751426 <% < 0528571429
JC) 0428571426 < g} < 0428571429

3
(D) 0425874126 < 7 < (438251429

104, 1540,21450, 1111-¢7 chfEraSesmraafia A w3

TF—
[Sevimaafa sjusme 21 3]
(A) 12 B 7
(©) 11 (D) 13
105. Ik eiferam awe fmafaa ez 1o wifeem Sfefie
frmufer fim e 7fe @i e fm—
erferet 1 erfaar il
(a) *ifafae (i) #fre za fammme 7= A
elraata e sifF=i
(b) @ (i) =fs 7 =i o W= g T%@
«T TRy 53
(o) wifetna (i) =i 2 frea swow ofes T 2o
T AT @26 TArR|
d) =% (iv) sfte z@ = fem)

(a) (b) (c) (d)
(A) (). (i) (iv) (iii)
(B) (i) (1) (iv) (i1)
C) (i) (i) - i), (iv)
(D) (i) (1) (ii) (iv)

106. 29 AP 264 1 AR A3, 29 G AN, 4147
e wib 71—
(A) 377 9% 406
(C) 203 @ 261

(B) 319 @®377
(D) 261 €3 319

107. =T 1001 gt sist v s, «=f 2 nefisg
Sl AG(E g waled | G 7, 11 93z 1393 st
©1 FE TR G ST naiwT 5, 6 @2 7 oo | v
ATE 7 x 11 x 13 G141 ©1ot 7731 70, 3ol Sisrraraf® zm—
(A) 539 AB) 586
(C) 581 (D) 544
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o8 1 03P25Q is divisible by 88 then the value of P

(A) Jand 8

and

(B Sand?

() 6and 8 M) Sand 6

109. The maximum number of trees which can he

p!sn“‘d 20 metres apart on the two sides of o straight road
1760 metres in length are—

(A) 178
() 180

(BY 176
(D) 174

110. Subitizing plays an important role in dey cloping the
pumber sense. Which of the following is an example of a
learner demonstrating the skill of subitizing?
(A) Leamer recognizes the number 6 as | added 1o §
(B) Leamer recognizes the number 4 as the number with
1 taken from §
(C) Learner rolls an unbiased die and is able to sav it is
four without actually counting the dots )
(D} Learner recognizes the number § as the successor of 4

ill. At what level of Van Heile's spatial/ geometrical
understanding. a child is likely to accept that a square is
also 2 rectangle?

(A} Level 0 (Visualization)

(B) Level 1 (Analysis)
(C) Level 2 (Relationship)

(D) Level 3 (Deduction)

112. xisanatural number and for every digit of it, place
value and the face value are the same. Then for any whole
number v, the value of xy will be—

(A) 23 (B) <y
(C) =0ory (D) =y
113,
! 1 2 6 42 ?

Entry in the sixth box is—
(A) 1806 (B) 1764
(C) 462 (D) 378

4. p.p.py o p, are’n’ naufrul numbers which are
not composite and none of them is 2.
Given: 1 +p p,p; op, = prime
then,p +p,+p, +..4p,=
(A) mxn (B) 2n
(Cj) n (D) n-1

Mathematics

Bengali Version

108, %% 93P22Q, 88 w7 FTsrm v 312 P e QL2 7= 23

TNHFTA—
(A) 2&m & B) 8&m 2

(C) hem§ i) ger g

109. 1760 372 3 @2 e zryz worom 20 972 w2

T AT T2 T wE ey rn—
AA) 178 By 176
(C) 180 (D) 174

110. =457 o e =B 0m oo omprd 3% oo

o ean?
(A) 542 7> | o =2 vm w6 e Sm BT o
PN Reob e Bl e o
(€ =2 26 Eronm va v 22 oz rmn v
TRA TR T TSI @R LD 52 ‘

(D) Freiel 5w 4-e2 w72 ® Tm T2 o

111. 37 == e/ orisfee eme o= e o=
fere Frem w7E oz v, 25 rmze 2 T
(A) T2 0 (7S waix) (B) %2 1 (Rmm)
JC) TR 2 (FE) (D) =2 3 (Tooem)

112. x @RI R aER I T TR e 23T
T AT | TTECR (T TG T y—02 T 1y T Ta—

(.r\) 2_\ J’B‘ S.‘"
(C) =08@y (D) =y
113. | 1 5 6 9 2
B A10EE e W—
ZA) 1806 (B) 1764
(C) 462 (D 378

4 pupaPyesp, 00 B wefrs s v (a3 (e
Hedjl B 2SI
e l+ppopyp, = = AfFs aem

W.pl+pz+p‘+...+p_=
(A) nxn B) n
((‘) N (l]‘ ﬂ-l
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115, A fraction is equivalent to 5/8. Twice its numerator 115, @l sien 8/8-97 AN qA T fawd @ zram iR
and the denominator add up to 414, Then the difference of

414 y AT QAT YT TA—

the denominator and the numerator of the fraction will be— wmaa
(A) 14 (B) 69 (A) 14 A8) 69
(C) 23 D 46 A0 23 (D) 46

116. The perimeter of a triangle i 12 em. in length, 116, «af fagrem fafma vl 12 GLRL, crts s

where the measure of all the three sides (in em.) are natural arga A e yrsifam o (o1, a3mm) | ame weo
numbers, How many such different triangles can be

formed? fen fargw st =21 790
(AY 2 (B) § (A) 2 (B) 5
() 4 (D) 3 ) 4 (D) 3

117, *p*(>2) is a prime number. Then H.C.F, of 17, ‘p'(>2) za «afb cifears AL oo p+1)s
P+Dand p-1)is— (p = 1)-93 97710, 70—

A) 2 3 =1
© 22 D -2 21 A8 =1
Lo e (€) 22 (D) =2
3 3
118, 0 of one centimetre indicates— 118. = = %Gbraa 10 Tee fod wra—
(A) 30 millimetres (B) 3 decimetres (A) 30 ffFHGEDE AB) 3 =HHm
(C) 3 millimetres (D) 0-3 millimetre (C) 3 fiffnm (D) 03 &5G3m

119. A wire is to be sold in multiple of 1 metre. 119. @ﬁmlﬁmmqﬁ:srzﬁﬁq;wm|mam
A person needs some pieces of 85 cm. The minimum length

of wire when loss is minimum is— 85 . aliilas , kit s id
Ay 19 ] TH—
(A) 17m (B) Im )
AC) 85m (D) 85m

120. Following are some questions asked by the teacher 120, +fie fders it/ Frrs vy frafe f;,i wxt S

in the mathematics classroom:

. B ewE g4:
(I) What is the area of the rectangle whose one side is
5 em. and perimeter is 30 cm.? () = wmwersra @l a5 o, @ s 30 &3
(II) Find a set of numbers whose mean is S, TE (R T gA? -
(M) List all prime numbers between 0 and 20, (D @ num o e s 5, v
(v I::u:?:c;l::nnéilixcnzal;cal information you know (1) 0 G 2099 WG ey G P—— S
Which of the following is correct? (IV) whrersa s cu fifew vy T W O WWE a5
(A) ), (1) and (111) are close ended and (IV) is open qCEn
ended question BitaT S e e
(B) (I) is close ended and (11), (11I) and (IV) are open (A) (1), (11) 93 (IL1) =1 Tasy ST (IV) T Yoy o
ended questions . . s '
(C) (1) and (1) are close ended and (11) and (IV) are (B) (1) 1 ey @ (1), (1) @2 (1V) g1 ey oo
open ended questions AC) (D €= (1) 221 %11y @22 (1) @ (1v) 21 TEH o

(D) (1) and (II) are close ended and (111) and (IV) are

D) (1) €< (1) % Tw2r9 9= (1) @ (V) T oS =
open ended questions

[34]



PART -E
Environmental Studies

English Version

121. Being an EVS teacher you have organised a debate

regarding causes for endangeredness of different animal

species. Learners expressed their views. Now at the end

of the debate, definite causes are ascertained behind the

depletion of the population of Royal Bengal Tiger

One-horned Rhinoceros, Gangetic Dolphin, Snrp:ngnudlu;

and Polar Bear. Which of the following sequences is the

most appropriate option?

(A) Climate change and global wanming, Poaching, Habitat
destruction, Over-exploitation. Pollution

(B) Pollution, Over-exploitation, Climate change and global
warming. Habitat destruction, Poaching

(C) Over-cxploitation, Habitat destruction, Poaching,
Pollution, Climate change and global warming

(D) Habitat destruction, Poaching, Pollution, Over-
exploitation, Climate change and global warming

122. Which one of the following arrangements remove
organic matter from wastewater?

(A) Trckling filters (B) Settling tanks

(C) Carbon filters (D) Reverse osmosis

123. Which one of the following environmental issues
does the book ‘Silent Spring’ written by Rachel Carson
describe?

(A) Global warming (B) Harmful effects of pesticides

(C) Noise pollution (D) Air pollution '

124. In which of the following years 21st CoP
(Conference of Parties) Climate Change Conference was
held in Paris (France)?
(A) 2015
(C) 2021

(B) 2014
(D) 2009

125. Being an EVS teacher you have organised a field
trip in some regions of Sundaland Biodiversity Hotspot
and discussed about endangered flora and fauna. Now
students interacted among themselves and reduced th.cir
learning gaps. Which of the following is true regarding

Sundaland Hotspot?

GEOGRAPHICAL FLORA FAUNA
AREA .
(A) Mizoram Orchid  Irrawaddy Dolphin
(B) Sikkim Rhododendron Red Par_zda
il N: Cardamom Lion-Tailed
(C) Tamil Nadu Sl
(D) Nicobar Islands Rafflesia Orangutan

[35]

Bengali Version

121, aawa oifarmafamma fafra/ frssare arof fafew end
siifea faenrera =rme fmn = fazdorsta wmares FaEm |
firmdfa eaa e A% | adn frerda Tena Tmm
cave BRI, G S1ard, P ou, A @ G
o[t ARetitEer FAFR e o o | resa e e
ey silvm emaren ¢

(A) TR AAfaada aar s Sammer, ooratfaeer, Age s,
wifgaagm, wud

(B) wust, gz, s 2faada aaz [ S, T
i, (orafaEa

(C) wfearara, amgm @, (Grfeema, e, Teana sfaada

a3 et Sz
(D) QR A, ST, T, wfgarste, Taanm AT
@2 fas Tmme
122. firare agiomielm @ @@iea o teRemd
ToTE FTA?
) T frdm (B) oif B (2fedem o)
(C) = fmGm (D) fren! wrmfim (Rede wfeaa)

123. Firwa v fafie wizans far e a2t s

@ Afaresrs st afds zrme?
(A) fost Suenm AB) Shamiea wfeen ger
(C) *rgad (D) argEd

124. Frfafie @R ag@ 2199 3 (FnEs 9 #AioN)
Ay sAfada wraem onfa (Fm) st e ?

(A) 2015 (B) 2014

1) 2021 (D) 2009

125, “farafamra fafee/frvs fToma sl s
GlRTalbd H™Iha (A TS QETa T3 CFa-Tus AU
AT At i faenr Sfw ¢ 2t frn wrama sarem)
@4 fermtdtan fFremwa T sirreifas we fafim w29 ¢ fies
UibfE FATE I | IFRIETS 250 faarn Twr @E #fiwe

cSretifers wwa Sfew S|
AA) Fiemm wfEw TS Gafes
(B) fifew ATTTAGH (TS ATt
(C) wifEmry GEH[5 fszejpe <@
(D) g Gesy BieE il GA1-6h12
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English Version
126. Which of the following statements is correct?

(A) Migration of animals is not related to
environmental temperature

(B) Migration of animals i< related to aggregation for
reproductive purpose

(C) Migration of animals is related with abundance of
oxygen

(D) Migration of animals is related to proving which
amimal runs at what speed

127, 1dentify the incorrect statement regarding
microplastic—
(A} Microplastics have been detected in human blood
(B) Polyethylene (PE) present in toothpaste and
polyethylene terephthalate (PET) present in lipgloss
arc examples of microplastics
(C) Microplastics can be bio-accumulated along the food
chain .
(D) Microplastics are easily bio-degradable substances

128. Which of the two following brain centres act as
Global Positioning System (GPS) in humans? '

(A) Hippocampus and Entorhinal Cortex
(B) Pons and Medulla

(C) Occipital lobe and Parietal lobe

(D) Frontz] lobe and Cerebellum

129. How much carbon dioxide gas is released into the
atmosphere to produce 1 (one) unit electricity from coal?

(A) 091 - 0-95 pound (B) 2-3 pound
(C) 001 -0-02 pound (D) 8- 10 pound

130. Which one of the following toxins produces red tides
mediated Paralytic Shellfish Poisoning (PSP) in humans?
(A) Saxitoxin (B) Aflatoxin
(C) Bungarotoxin (D) Botulinum toxin

131. ldentify the scenario nor directly causing ongoing
anthropogenic Joss of species diversity denoted as the *sixth
mass extinction®—

(A) Pollution caused by harmful chemicals
(B) Global warming

(C) Reduced natality rate of species

(D) Loss of natural habitat

132. Identify the least harmful direct threat for marine

ecosystem—

(A) Changes in air quality index (B) 0il spill (sea surface)

(C) Microplastic pollution (D) Rise inocean
temperature

Bengali Version

126. e fAafeolin s @E 7w ?
(A) el stfere s(faranem Sieaam o Ty -
_B) ;i‘?rm sAfmta AT AT GO T
gnfrs womra sm A
(€) 2wz sifaam ufsmesa opfa o Aty
(D) =i o{Zme e 20 7T BT (ST T Ay .
w1 AT

127. wrmenos sfEs @ 7ol 777 7w o S
—
(A) FaaTE ARLHREES *wE 24 2, -
(B) ez stors (poreis) 3#(7s = (PE) e« o7
st ot Beafze «ffufm Gmenam=s (PET) .
o RS Tz
(C) *Fppm 7oz witcelaBer e Avn o ~
D) wiEmieiFe 27 wzm tea-frmre @

128. Fare el wfreres sz arar 2t Grse
(feforam) fimm =t 220

(A) faeramem 9w @oafmm o

(B) = @72 Greran

(C) SFHF0E @R 922 e G

AD) THE (AR 92 FEEEw

129. =%t (Ut 1 (9) 2356 e Seoim zars = +fme
T SIREHITS T ImeTE Hepe e

SA) 091-095 %% (B) 2-371%E

(C) 001-002+F8 (D) 8- 1073

130. FefFRetRmefmmg D T AR @S B
THE ‘e emi el (GLeft) B e

(A) #fanfsm #B) TmhHER
(©) Timanim (D) Ip=Ears BEm

131, sraefen anfemmnem o 52 ow aw’s iy
g wfiws wom w1 wb e Refy oS, o o
RRUEES ES coR S e e

(A) wfearms apmifices smm g

(B) faw Twnya

(C) geifen wagra agy wism

D) srgfea apigima faam

132, sinfere argery o e 3 wivams srops A0
fofes wam—

AA) A SR 2jpe-aq vifEada (B) dem Fiorad (TEes)
(C) wEraimboe g (D) Tpiteas womm
qfG



PART - E
Environmental Studies

English Version

133. Air pollution resulting from volean;
pe detected by measuring which one of
compounds?
(A) Sulphur dioxide
(C) Scandium oxide

¢ eruption can
the following

(B) Strontium oxide
(D) Stannic oxide

134. Hydroponics is the technique of growing plants in

which one of the following conditions?
(A) Nutrient-less condition (B) Air-less condition

(C) Soil-less condition (D) Water-less condition

135. Which of the following animals is a benthic
invertebrate?

(A) Small shark
(C) Flatfish

(B) Sca anemone
(D) Seahorse

136. Animals and plants that contain genes introduced
from other species are known as—

(A) hybnd (B) transgenic
(C) plasmid (D) semi-hybrid

137. ldentifyv the scenario not associated with algal
bloom—
(A) Death of fish (B) Release of algal toxin

(C) Change of ocean current (D) Depletion of oxygen

138. Which one of the following is an anadromous fish?
(B) Hilsa
(D) Ecels

(A) Cyprinus
(C) Rohu

139, Carbon monoxide (CO) is—
(i) agreenhouse gas
(ii) a polycyclic aromatic hydrocarbon
(iii) a component in determining Air Quality Index
(AQI)
(iv) a Volatile Orga
Choose the correct answer from t
below—
(A) (i), (ii) and (iii)
(B) (i), (iii) and (iv)
(C) (iii) only
(D) (i), (1ii) and (iv)

nic Compound (YOC)
he options given

[37]

Rengali Version
123, Futafars cna onfies ewefa ofrmem s wtrmifa

WYLHTSA FAA TAT AYFAD *NZ A A2
AA) it ez (B) Bobmn =it
(C) Bnafeun st (D) e =wnzs

134, frsre wagrofim s cat 2iErgtetf omors By
Aft= e WAmE T

(A) =ifarsitrs (+4f)- e gy
(C) yfemt-fada syt

(B) an-fasia wag
g1y ea-fasa v

135, fome enftofim e @l amwwsr adfte
(A) caItst z1% (B) F-wiferaa
(C) myiofis (s71o51 wrz)  _4b) A2 (72 )

136. fou el care ofés fom wrmemrdr ond o= Sfgere
w1 TW—

(A) &4 B) GEshee
(C) =mr=frs (D) =mfer= 7=

137, o<fate 33 (RITER AR Weq )0 FF FAES T
@ oA, Gt fifes #wa—
(A) & Y-

AC) pTE @es vfaads

(B) Teramsra wiefm Wamas
(D) wETEw-aq Frsmea -

138. frs Sfafie wrufem Ty oD wpmmgrars wrg?

(A) iEfeam AB) e
(C) #% (D) &%

139, @ wEE (CO) e—
(i) a=f firerss o .
(i = «femzfes wmambs vigeEm
(i) @ camfald e (AQI) fan aara wald Twmwm
(iv) @0z Turdl tere Alat (VOC) »
Sirwa Afde faaa® fdnms swa—
A) (b, (i) @t (iii)
(B) (i), (ii) €9 (iv)
(C) aysla (i)
(D) (1), (i) 99 (iv)
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140, Read the following «tatements and choose the
correct opltion—

Assertion (A}t At the primary level, EVS has

thgmes instead of topics.
¢ Theme-baced EVS learning
diffuces «ubject barrier and
promotes integrated approach
which is casy for teachers and
learners as compared to topics,
(A)is false, but (R} is true

Reavon (R)

Both (A) and (R} are troe and (R) i< the comrect
explanation o (A)

Both (A) and (R) are true, but (R) is not the
correct explanation of (A)

{A IS true, bat (K18 false

141, Which of the following chemical compounds is
responsible for ozone hole formation in polar regions
(Stratosphere)?

(A) E

-

(C) Propane

thane

(B) Chlormpyrifos
AD) Chlorine nitrate

142. Which of the following chemicals can be considered
as ‘green solvent*?
(A) Chlorofluorocarbons l/ B) Benzene

(C) Anthracene (D) Supercritical carbon dioxide

143. A teacher is demonstrating different types of bone
Joints to her/his learners with the help of a skeleton. Now
she/he points out the ball and socket joints at different
anatomical regions of the body. Identify the anatomical
regions—

(A) Knee and Elbow (B) Ankle and Wrist

(C) Skull and Vertebral Column (D) Hip and Shoulder

144. Which of the following is the first Biosphere Reserve
in India?

(A) Sundarban Biosphere Reserve
(B) Great Nicobur Biosphere Reserve
(C) Nilgiri Biosphere Reserve

(D) Panna Biosphere Reserve

[38)

Bengali Version
140, Srsa wrmora g gae wGa franf ey fm—
fafeA) o ehefies e afareefm g
offaars st furafes srams)

c wramfrea  sfarmafem feas
frmufsfas aramears afaws wars
AT BLF GAL FAATA] HAqTE
afiren forn crrz stz =ran fmr
streiems fafmat/ frwa g2
fermst s #10g 7ETEA T

(A) (A)z= faent, fag (R) o3 7721

(B) (A)@ (R)TSTE 7T G (R) 77 (A A 70

& (R)

At
(C) (A) @ (R) Tev% 77y, =8 (R) (A a2 5=
et o

(D) (A)z#1 5%, fog (R) 271 fasm

141. frsre aomfe daehr ma @l s gem
CreiParame) ‘eram ez’ 5% v wire

(A) Zrem (B) GEraeifams
(C) ceimeta (D) &&= =35

142, e armfecfm T e ammtete T e
feia faravat =1 qme @ae

(A) Gramraera (B) &fim
(C) =mmgfm (D) ForfEhes oda sRweris

143,z sifacfamr i) frss ool we e g
¥ fermdfon fafen wom ofiphi s Bos) ow BR
o fafSmmrirmeifivs vt 1 @ et wfio e s,
rftrgifore v wmre vw—
JA) ¥ e

(C) e 4f5 6 qugsin

(B) ¢n@rfa @ 3fis
(D) ey ey

144, farare @rfb errer duw amfens furs
(A) saaw amnfours faens
(B) 45 Frema aranfeum fars
AC) Srafaf arnfeura faers
(D) i aanfourg faars
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45, What was India's
iln 2021-2022 ﬁnnnc;:I‘;:\rrf.’npim .
(A) |00 kwn (Kilowatt-hour)
(B) 555 kWh (Kilowatt-hour)
(C) 950 KWh (Kilowatt-hour)
(D) 1255 KWh (kilowatt-hour)

tricity consumption

146. During nt}linc classes, how will an EVS teacher be
able to appropriately teach visually challenged students?

(i) By sharing voice messages
(i) Using lots of oral explanation
(iii) By peer explanation
(iv) Using concrete experience
(A) (1). (11) and (iii)
(B) (i1), (ii1) and (iv)
(©) (1), (1ii) and (iv)
(D) (1), (i1), (iii) and (iv)

147. In which of the following phases, surface water
temperature phenomenon of ENSO (EI-Nifio Southern
Oscillation) of equatorial Pacific Ocean is called El-Niilo
phase?
(A) Cold phase
(C) Warm phase

(B) Normal phase
(D) Freezing phase

148. Beingan EVS teacher your intention is to familiarise
rocks and minerals to your learners. Now one inquisitive
learner asks you what element is present in most of the
rocks and minerals? The teacher’s probable response will
be—

(A) Aluminium

(C) Carbon

(B) Hydrogen
(D) Silicon

149. Which of the following animalsis a detritus feeder?
(A) Rabbit (B) Lion
(C) Pigeon (D) Vulture

150. The loose material produced during weathering of
rocks may become consolidated, this process is known as—
(A) lithification (B) nitrification
(C) sedimentation (D) humus formation

Bengali Version
145, 2021-2022 =uififa qura sracza waefe (na =nf+b1)
apaze fagrea sifand a5 o
(A) 800 kWh (fazeataul
(B) 555 kWh (faratau
C) 950 kWh (freatel
(D) 1255 kWh (ferenauib-wranra)

“21a7a)
g an)
“41G714)

146. yfRorwsita wonlEe @i sl amiza zm
e 7 e wifrasfara ffa s cam o name
AT AL FATEA?
(1) FHAE ARALATTR T -
(if) Tl cfas aney Aragad WA -
(iii) IrZeIdiTaR AT ATAZITAA AT £
(iv) T afeme Fyazra 4 qura
AA) (i), (i) 922 (iii)
(B) (ii), (iii) €2z (iv)
(C) (i), (iil) €2 (iv)
(D) (i), (i), (1i1) 992 (iv)

147. frm (@) eparg smisa el e g (9o-fst
sitwi wfirem) soa o wrer steman fefEle @n
onftas ‘aa-frar onfm 7= @ e
(A) #rea s
I€) T o

(B) #reifae oz
(D) fEfire #if

148, qawm sAfaraifvre ffre)/fvs o wef Fere
<{ferei-a7 W Fredites oifasy WOt 2o (IR ITAR | @
G TP Rl wems o T ou vt < e e
ﬁmwm@aﬁﬁmmm?ﬁﬁm/&maamm
Ta—

(A) e fafeam AB) RTEICEH
(C) *14a (D) Biffes

149. frsre aifofim g @m 28 chvm fwr (@
csho™ cerdn)?

(A) Fasfi«
(C) =irdl

(B) Pisx
AD) g«

150, e 38 wmsh ommofi @ aerde @3
7 oig Qb es @ w—
AA) Fafuferes@ (B) wiialiwea
(C) @zrsiel (oifemebam) (D) fa8an s
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